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3 HLX EM [ B AR RIEM W :
BHEHN 1B =8 5kg 78 #8 | 4,500 M
BEHN 8E =1L #95kg & # | 4,300 EiE
BHYN 102 Fi% 5kg & % | 4,000 INE
7o 25/26E s 5kg & kg 850
71 10/11kg =5 1A bS] kg | 1,200 FTE
71 6/9kg =5 1A i kg | 1,150 ETBE
JY 10/11kg EEdon] 1A i kg | 1,250 EE
71 7/9kg % [if] 1A ] kg | 1,200 TE
71 10/12kg KI5 1A ) kg 850 48
(o450 6 ERE | 10/12kg 5= kg | 1,300 TBE
ES<Y 2 R 11/14kg 5B kg | 1,300 N
14+ 6/8E R 4kg 78 kg | 2,150 N
FERXF 1/32 ] 3/5kg 5 kg | 2,300 | FE&E BEH ATI0 EHIC
AXF 2/4 EiE 4/5kg 5= kg | 1,400 TE
*eHY #9150 =k 3kg & kg | 1,250 K3l lEHBHvE
paAwES 6/7% KI5 5/6kg i kg | 1,300 FE IEE
=K 4/5E R 8kgd ) kg | 1,500 EE
VAP 3/4kg &l 1A ) kg | 2,950 # EEO
* B 4 GEdor] 5/5.5kg 5= kg | 3600| # BEH Af10 HSEHIC
£ B 5 F# i) 5/5.5kg & kg | 3200| # fEHE Af10 BEHIC
g4 2/3% & 3keghd 7 kg | 1,400 EE
294 2kg k. 1A 7 kg | 1,750 EE
<4 1/2R & 7 2/3kg 5B kg | 2,600 EE
FH 1.5/2kg = 1A 7 kg | 2,600 EE &~
VLN 4/5kg RS 1A a kg | 2,000 8 fZEE
RAILKRZILAA BE 300g 4 ¥ | 1,100
RAILKRZILAA Z 1L 350g " # | 1,300
EHRZILAH 212 = 4 # | 1,100
AT RAT #9180/200g| dtifEE 4 4 350
Ry¥BE #9300¢g tiEE & kg | 1,600
YT 200/250¢g & & kg | 2,600
HHT 150/180g RI% & kg | 2,600
HI)E 300/400g | LM 1& kg | 2,600




